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CFD

32 1
) .
1 o
“3+1’7
2 “3+1”
2.1
2007 o 3 )
KQSN450-
N13/428, Q=2 280 m*h,
H=45m, 9.5m,
. Y400-4, P.=
400 kW, 1=47.6 A, U=6 kV,
1480 r/min, cose =0.86,
n ~=~94%, o
, 60%,
0. 445 MPa, R
’ 6 ’
2.2
60% , )
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2011 2
o C
1 o H,=0.445 x 102=45.4 m
1 H=14-24=-1m
1 Q=2 200 m*/h=0.61 m¥/s
V=4 x0.61/(3.14 x0.7%) = 1.6 m/s
H=1.6%/(2x%9.81)=0.13m
/MPa /kV /A /KW /KW
, Ah=03m
A 0.4 6.1~6.2 44 369.6 393.2
H=45.4-1.0+0.13+0.3=44 m
B / / / / /
C 0.445 6.1~6.2 47 394 420 _ : K
0= 4664 m/h. P=1.732 x 47 x6.09 x 0.86 x 0.94 400.7 kW
kt : (393.2+420)/4.664=174.4 KWh/kt
P =9.81x2 200 x44/3 600=263.8 kW
cos 1 =263.8/400.7 =~ 66%
. (2)
5 (a) ’ 5
; (b) ;
24 DN700 1.5m 1.4m R 2.5m () (C) ’ ;
n o 14 45 D\Z/ﬁz(;% 02MPa o (d) ,
g Wi/k\; Jys 75
K| bied
b p<t—O—>—T=—
34 ’ ) o
2.3  “3+1”
: s +2.4 m,
+2.7 m, 23 m, DN150,
DN700, s
1 &‘3+197
(1) ,
b A b
H,=0.4x102=40.8 m “ 7,
H=15-2.4= - 0.9 m .
Q=2 400 m*/h=0.78 m%/s ,
V=4x0.78/(3.14x0.7) = 2.0 m/s A
H=2%/(2x9.81)=0.2m o
, Ah=0.3m ,
H=40.8-0.9+0.2+0.3=40.4 m 2 500 m¥h, 2
: ¥ Q=5000m¥h. ¥ Q=5 000 m¥/h
P=1.732x44x6x0.86x0.94 369.6 kW , p  0.45 MPa,
+2.4m, ,
P =9.81x2 400 x 40.4/3 600=264.2 kW 38 m,

1=264.2/369.6 = 71.4%

Q=2500



58 32 1
m/h, H=38m, n=80%, P, = o
9.81 x 2 500 x 38/(3 600 x 80% ) =323.5 kW, , N
2 o , ,
2 b
/MPa K, /A /kV /KW o
1# 045 40 6.1~6.2 3632 , ,
2# / / / / / .
3# 045 40 6.1~6.2 3632
p 0.45 MPa, 3
2024914 m3/ha “3 1n
kt . (363.2+363.2)/4.914=147.8 kWh/kt +
2.4 , o
(D (
1, 2 : Vs 2010
N=393.2+420-363.2 x 2=86.8 kW o « ), ,
(2) = 2010 2005
X 12t t , 20
N,=86.8 x 8 640=75 x 10* kWh ; 30 . -
(3) ' , 10 .
— 2010 , 2005
2549 t 2295 t, (COD)
=86.8 (393.2+420)=11 1414t 1273t
(4) B x 70
A N=75x%0.59=44 60
(5) 15 , 15 1000
44 x 15=660 o ’ 2010 8
(4914 4664) x8640=216 x 10* m® ’
(6) kt 10

_174.4 1478

%=15.39
1744 x 100%=15.3%
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